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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. (a) What are the major resources of computer 

system ? Explain them. 

dEI;wVj flLVe ds izeq[k lalk/ku D;k gSa \ mUgsa 

le>kb;sA 

(b) What do you mean by information technology ? 

Differentiate between data and information. 

lwpuk izkS|ksfxdh dk D;k eryc gS \ vk¡dM+ksa vkSj 

lwpuk ds chp vUrj dhft,A 

2. (a) List the various computer generations with their 

key characteristics. 

dEI;wVj dh fofHkUu ihf<+;ksa dh lwph mudh izeq[k 

fo’ks”krkvksa ds lkFk crkb;sA 

(b) Explain block diagram of computer. 

dEI;wVj ds izeq[k vkjs[k dks le>kb;sA 

3. (a) What are storage devices ? How is it differ from 

primary memory ? 

eseksjh@HkaMkj.k midj.k D;k gSa \ ;g izkFkfed eseksjh 

ls dSls vyx gS \ 

(b) Explain logical architecture of Operating System. 

vkWijsfVax flLVe dh rkfdZd lajpuk dks le>kb;sA 
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4. (a) Explain management information system in 

detail. 

izcU/ku lwpuk iz.kkyh dks foLrkj ls crkb;sA 

(b) What are the basic operations performed by 

Computer System ? 

dEI;wVj flLVe fd;s tkus okys cqfu;knh dk;Z D;k  

gSa \ 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Various characteristics of computers. 

dEI;wVj dh fofHkUu fo’ks”krk,¡A 

2. Basic components of the CPU. 

lh- ih- ;w- ds cqfu;knh ?kVdA 

3. Importance of input/output devices for computer. 

dEI;wVj ds fy, buiqV@vkmViqV midj.kksa dh vko’;drkA 

4. Characteristics of ROM. 

jkse dh fo’ks”krk,¡A 
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5. Difference between DOS and Windows operating 

system. 

MkWl vkSj foaMkst vkWijsfVax flLVe ds chp vUrjA 

6. How application software is different from system 

software ? 

flLVe lkW¶Vos;j ls vkosnu lkW¶Vos;j vyx dSls gS \ 

7. Programming Language. 

izksxzkfeax Hkk”kkA 

8. Difference between machine language and high-level 

language. 

e’khu Hkk”kk vkSj mPp Lrjh; Hkk”kk ds chp vUrjA 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the correct alternative : 

lgh fodYi pqfu, % 

1. Integrated circuits were used in ................ of computer. 

(a) 1-Generation Computers 

(b) II-Generation Computers 

(c) III-Generation Computers 

(d) IV-Generation Computers 
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,dhd`r lfdZV dk mi;ksx 
------------------------

 esa fd;k x;k FkkA 

¼v½ I-ih<+h dEI;wVj 

¼c½ II-ih<+h dEI;wVj 

¼l½ III-ih<+h dEI;wVj 

¼n½ IV-ih<+h dEI;wVj 

2. RAM is ............... . 

(a) Read Access Memory 

(b) Random Access Memory 

(c) Ready Access Memory 

(d) Read Optimal Memory 

jSe 
------------------------

 gSA 

¼v½ jhM ,Dlsl eSeksjh 

¼c½ jSaMe ,Dlsl eSeksjh 

¼l½ jsMh ,Dlsl eSeksjh 

¼n½ jhM vkWIVhdy eSeksjh 

3. 4 nibble is equal to ........... byte. 

(a) 1000 byte 

(b) 100 byte 

(c) 10 byte 

(d) 1 byte 

4 fuCcy 
------------------------

 ds cjkcj gksrk gSA 

¼v½ 1000 ckbV 

¼c½ 100 ckbV 

¼l½ 10 ckbV 

¼n½ 1 ckbV 
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4. Scanner is ............ device. 

(a) Display 

(b) Output 

(c) Input 

(d) Active 

LdSuj ,d 
------------------------

 fMokbl gSA 

¼v½ fMLIys 

¼c½ vkmViqV 

¼l½ buiqV 

¼n½ ,fDVo 

5. Full form of BCD is ............... . 

(a) Binary Coded Decimal 

(b) Binary Code Digital 

(c) Bit Code Decimal 

(d) Byte Code Decimal 

chlhMh dks iw.kZ :i 
------------------------

 dgrs gSaA 

¼v½ ckbujh dksMM Mslhey 

¼c½ ckbujh dksM fMftVy 

¼l½ fcV dksM Mslhey 

¼n½ ckWbV dksM Mslhey 

6. Primary memory is ........... . 

(a) RAM 

(b) Hard Disk 

(c) Pen Drive 

(d) Cd/DVD 
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izkbejh eSeksjh 
------------------------

 dgrs gSaA 

¼v½ jSe 

¼c½ gkMZ fMLd 

¼l½ iSu Mªkbo 

¼n½ lh- Mh-@Mh- oh- Mh- 

7. (1111)2 = (?)10 : 

(a) 14 

(b) 15 

(c) 10 

(d) 11 

(1111)2 = (?)10 : 

¼v½ 14 

¼c½ 15 

¼l½ 10 

¼n½ 11 

8. Operating system is an/a ............ . 

(a) Application Software 

(b) System Software 

(c) Programming Language 

(d) Hardware 

vkWijsfVax flLVe 
------------------------

 gksrk gSA 

¼v½ ,fIyds’ku lkW¶Vos;j 

¼c½ flLVe lkW¶Vos;j 

¼l½ izksxzkfeax Hkk”kk 

¼n½ gkMZos;j 
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9. What is the base of octal number system ? 

(a) 2 

(b) 10 

(c) 8 

(d) 16 

v”Vk/kfi la[;k iz.kkyh dk vk/kkj D;k gksrk gS \ 

¼v½ 2 

¼c½ 10 

¼l½ 8 

¼n½ 16 

10. CPU is the brain of computer. 

(a) True 

(b) False 

lh- ih- ;w- dEI;wVj dk efLr”d gSA 

¼v½ lgh 

¼c½ xyr 
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